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Instructions for Candidates

l. Write your Roll No. on the top immedjately on receipt of this question paper.

2. The paper has two sections.

3. All questions in ‘Section A’ are compuylsory- %

4 Attempt any four questions from ‘Secfion B’.
5. Parts ofa question miust be answered together.
7T\ SECTION A
e 0
L 1) Comment on the statement “Software does not wear out. Justify your answer
i by explaining bathtub failure curve for software. 3)
~
Q (i) Explain any three umbrella activities used in Software development
Process. 3)
(i) What is the significance of creating a risk table ? 2)
(iv) What are disadvantages of waterfall model ? (3)
inci 3
(V) Explain any three aglllly pl‘lll01ples' ( )
’ o " ‘ . . 3
! (Vi) Differentiate between functional abstraction and data abstraction. &)
b . , ' 3)
(vii) What are the factors effecting coupling ?
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(vii) Differentiat, ’ o To compute the tax deduction, information from the tax rate file s
( *ie between private ang Public meg; ) " used.
lX) Ex la Cs. ‘ o
Prinany three components of 5, SRS 9 €) o The amount of tax deducted is recorded in the employee and company
(X) EXplal ) d
I the records.
stimati .raWbaCkS of bot! LOC a d as an
On variableg nd FP (Function Point) use €), o Finally, the paycheck is issued for the net pay.
(xi) Ex ‘ . ds.
: Plain Tegression testing 3 o The amount paid is also recorded in the company recor (3-+4+3)
X1i) What 1S
sk exposur i
e ? How is R 3) .
. i llowing code.
Exposure determined ? ( 4. (a) Create a flow graph to find the cyclomatic compleXity of the following
Also show all the independent paths and regions -
@ Explaip al mode 1. Begin
Significap, = With suitahje . {he
€ of ~ 3 1S I =0 n=A-
®) wy anchor pojn miles?%eg:zm Suggested by Boehm. What B 2. 1=0;n=4;
' " at are Var: .
. arigy . i i -
o vast majority S generjc Process o ‘0 3. while (i <n-1) do
d s ., Of SO are . eWOrk activit: 1 i Cab
‘\5\(:’\( . Projects Clivities that are apP () 4. j=i+1;
| da, - SO0t . | |
' i ot \DI;D 4 / 5. while (j <n) do
D (Daiy g OW Diagra nd its associafe | |
8enerateg gram) a low,ng 6. if A[i]<Al[j] then
Paycheck considering the 0l
eekly 4 7. swap(A[il, AlD;
y tlmesheet :
. 8. .
18 4 Worker end do;
aycheck 9. i=i+l;
13
"0 2 worker 10.  end do;
(©)
b . 11. End
® employee’s re g
. cord is retrieved, usi” ;ntegrity of the software are used as a measure
ob e Cont . . oo e and integ
tallled mploye . ained in the limesheet, . (b) Explain how mau.ltamablhty @
Cord, the rate of payment and overtim ar of software quality.
. . . . . formation
i€ 5. . .+ value for 8 Project with the following in
stlar and Overtime hours are used t0 comp¥ . (2) Compute Function Point v
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